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= H Hkie | TEEM | B | & E | P8 | % | @k = H Hkie | TEEH | By | B @ | T B | & B | Bl
x R 4400 £ & | 10kg 1400] 1200 700] O
A % 7600 £ W& | 10kg| 3300| 2500| 1500] A
& 419] W i | Ike 600 350 100 A
& R 1170] @ i | 4ke 2000 1300 700 O | *& % 370 & 1 | 0.2kg 70 50 45| A
L % Ed & # | 0.2kg
7N N Ed 1586| #& #t | 0.2kg 70 50 45| A
A Ed 3990| M (i | 15kg| 2000 1800| 1400/ A | = > #E 122 x & £ 80 70 60| A
¥ ¥y RV 6980 % &1 | 10kg 1600 600 A | & % 72| % ® |0.15kg 90 80 65 A
AL Y B 961 ® b | 1ke 550 400 2000 A | & = S 175 & & | 0.1kg 70 60 30| A
= o 233] @ b | lkg 600 400 210l LA | & = 5 5| M I | 0.5kg | 3000 2500, A
A Z 528] B E | 3keg 1600] 1400 700 A
7 A N5 H A 173 M i | 0.1kg 220 200 1000 A | v & 2 1000 & & | 10kg 1600| 1400| 1200 A
Joway — 726 E & | 6kg 2800/ 2600 2400 A | ¥ = = v & = 200 E ® | 4ke 1200/ 1000 800| A
HY TS5y — & & | bke 2 7 ) — vy — 7 280 £ ® | 4keg 1000 800 A
¥t Ny — 100 #& M | 10kg 3500 3400 A
# i 2396 M I | 5ke 2400/ 1800 800| A
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N * D) % M | 0.2kg FUZ
7 7 2030 #& & | 4ke 1800| 1400| 1200 A
K < K 9706 & #i | 4keg 1600| 1400 900 Al # v ¥ v ¥ « 194] & #i | 0.2kg 80 A
I = F ¥ b 2560, M i |0.2kg 200 150 70 A
¥ - < 784| = B |0.13kg 90 80 65 Al LU LU ¥ > 39] & & | 0.1ke 270 250 A
4 v F v 60 & & | 2kg 50001 4000/ 2500 A | H & n 60| &= & | 0.1kg 24 A
%8 X » 212] @M 1 | lkg 1500/ 1200 1100] A
2 F v 7 137 ® W | lkg 1800/ 1500] 1200 A | = o+ = 7 260 & & kg 2600] 2400] 2000 A
# £ - 2] & @ 2kg 1900 1800| A
£ - 117 & % | 4ke 5200 A
H e 415/ # & | Bkeg 2500 1600 600 O ||
B #% £ 7400 B B & | 10kg| 4800 Al = 7 S5 8 & & | 0.8ke 150 130 A
A = 7 A4 v B 5 & | 10kg T4 Y| Avhk
B == 6000| 4 78 & | 10kg| 4500 X B 74| ® & | 0.1ke 400 340 A
ES el I B & | 20ke
o ES el #% & | 10kg ¥ 3 & A5 Z LU B E | 10ke
3 e o 60 F 11 |0.lkg 140 120 70 E 5 5kg
T ) ¥ 727 E % |0.2keg 70 65 60
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